HohHREEMAET 7 —FIERR

B2

[FRAEEEHE]
E i HAR FRE28%2H822H ~29H
NRE HohHRERICEETH52BERORES
XEIRE203 N . (FHEE169A (FER28%281HEE)
B2 %1 R¥EE 153 A (EIURZE 905 %)
REEZEL TEMMEUR
(7or—MMER]
fl1 BELTWVSFELDISRAE B A%
0mR 1%/ 2%R 3FR 4% B 5ER &
AE | R | A% [#EREE | ABR [HERREE | AZC O |HERREE| ABL | HERCEE| AR [#ERKEE | AL [HERKLE
HSRER 2 1.2 16| 9.2 22| 127 46| 264 38| 21.84 50| 28.7 174 100
B2 REETOFELDEFTEEDLSICELTLNSD
: . BETOFELDEE
EE AL ) ol
1ETHELATLS 107] _ 69.9 1ETHRLATS
2ZTNBGYIZELATLS 45| 294 2FNEYITELATNS
W= ~
25%%%%&’%—@\73“ g) 0'(7) BHFEYRLHTLVALY
5 &[] & 0 0 AN STINVS
=k 153] 100 5 [
0 20 40 60 80 100 120
B3 RBEICHLTDmEE
(MRBLOR BETOXE
EEH (B o BELTLS
TBELTLS 95| 62.1 ZRBTRBELTLS
2BBTRBELTS 50 327 senrThAL:
3EELTEHEL 8 52 AP OTE
4OOTE 0 0 5‘5“’@
5ETERH 0 0 6RES
GHRMEIE 0 0 0 10 20 30 40 50 60 70 80 90 100
=111 153 100




1THEELTWS
2HBLRBMELTLDS
3ELLTHALY
40P
5L.THARFH

6EREZE

10

20

30

40

50

60

70

80

90

100

1mELTNS
2EBTREELTLS
ELLTHEL
40T
5LTHEAH

6EE%E

20

40

60

80

100

120

Q)RBAR(RERE.KBRBZEED)

EIEE | R
1TmELTLS 95[ 62.1
2T hmIELTLS 45|  29.4
3ELLTEHAELY 9 5.9
4ROF 3 2.0
5L.THERRE 1 0.7
6fERZE 0 0
&&t 153] 100
(B)RBEMNSDIFHRRIE
(Bf=&Y. 97 R &Y., B9

EIEE | Rt
1TmELTLS 102]  66.7
2B hmIELTLS 43| 281
3ELLTEHAELY 6 3.9
4ROF 2 1.3
5L.THERE 0 0
6ERZE 0 0
&&t 153] 100
() REBEDIT

EIEE | R
1TmELTLS 95[ 62.1
2T hmIELTLS 52| 33.9
3ELLTEHAELY 1 0.7
4ROF 4 2.6
5L.THERE 1 0.7
6fERZE 0 0
&&t 153] 100

THERBLTWNS
2EBThFERLTNS
BELLTEHALY
AOTE
5.THAm

6

]

EDIT

10

20

30

40

50

60

70

80

90

100




(BB -BPD

1mELTWLS
2EBORBRELTLNDS
BELLTHALY
40T
5LTHAH

F RS

HB-BPD

20 40 60

80

100

120

1M o7

28550 EVNZIER AT
3BRLEh ot
4EELMENRIXRLE AT
5EE5EHZHL
6EME &

RE{LTREMNOEBVETH

10 20 30

40

50

60

70

EIEE | R
1TmELTLS 110]  71.8
2T hmIELTLS 36/ 235
3ELLTEHAELY 3 2.0
4ROF 3 2.0
5L.THERE 1 0.7
6fERZ 0 0
&&t 153] 100
B4 HiEL TR EBLVETH

EIEE | R
1EMof= 66| 43.1
25550 EVZIER MO 44| 287
3B Ao 7 4.6
4EE5MEVRIERLEN D 5 3.3
5555&H VA ALY 31l 203
6fERZ 0 0
&&t 153] 100
15 #MELTEMN BRI (2DFT)

EIEE | R
1RELTOX 51] 26.8
2REARB-Y—EX 70 36.9
SREEINSDIEHRHKIE 11 5.8
4RBEEDITE 28| 14.7
5B 4 2.1
6ZDth 21 11.1
7HERZE 5 2.6
&&t 190 100

MELTRMo-EH

1RELOXG
2RBRE-H—ER
SEBEEMSDIERFEE
ARBRDITE
5#AB-HPD

6F Mt

TERE

10 20 30 40

50

60

70

80




6 HELTRLGEN--EBRHIF(2DFT)

MELTRELGAI-T-ERA

1RET O
2RBANB-Y—ER
SFBEEMNSDIEHHEE
ARBREDOITE
5#B-HrD

6ZNith

7ERE

EIEE | R
1EELTOXE 5 33.3
2REARB-Y—EX 3] 200
SREEINLDIEHRHKIE 0 0
AREEDITE 3] 200
585D 0 0
6ZDth 4]  26.7
7HERZE 0 0
&&t 15[ 100
7 BE{LTEMN O =EBNVETM

EIEE | R
1EMof= 67| 438
25550 EVZIER MO 34| 222
3B Ao 4 2.6
4EE5MEVNRIERLEN D 3 2.0
5555LH VR ALY 38| 2438
6fERZE 7 4.6
&&t 153] 100

8 REELTRMO-EHIL(2DFT)

1RM o1

28550 EVNZIER AT
3BRLEh ot
4EELMNENRIXRLE AT
5EE5EHZHL
6EE%E

EELTRENOERVETH

20 30 40

50

60

70

80

EIEE | R
1RELTOX 42|  26.4
2REHNAE-Y—EX 74| 46.6
SREEHILDEHRHEIE 8 5.0
AREEDITE 32| 201
5B 0 0
6ZDth 0 0
7HERZE 3 1.9
&&t 159] 100

RE{LTRM--ER

1REF TS
2RBANB-Y—ER
SRBEEMNSDEHRHEE
ARBREDOITE
5#B-H1®D

6ZMith

7ERZE

10

20 30 40

50

60

70

80




9 RE(LTRGA>EHEL(2DFT)
SER TR RELLTRGNS1EH
1RELORG ~ 9] 167 [V RELTORIG
2EBEARNR-H—ER 5[ 416 2RE I*}e--"j'—t%
SREBEEILDEREE 0 0 SREBEISDIERHRE
AREEDITE 2l 16.7 AREEDITE
588502 0 0 S5#B-H¥D
6Z D1t 3] 250 6Z Dt
7HERZE 0 0 7EE%
&&t 12| 100
0 1 2 3




